1) y=x>—2a—1)x+2a*—8a+4
={x—(a—1)*—(a—1)*+2a*—8a+4
)}

={x—(a—1)}*4+a*—6a+3
G (a— 1 a*— 6a+ 3) y
G G =x /
2 a’?—6a+3<0 70
3—v 6<a<3+6 ... 1 O
2 x ‘\
flx) =x22—2a—1)x+2a?—8a+4 \/ 0 e
a—1<0
{f<0)>0
a—1<0 a<l ..
£(0)>0 2a%—8a+4>0 _ .
o [
a<2—vZ 24VZ<a . O /
3—V6 1 242 a
3—Vr§<a< 2—VFE 2—V2 3+/6
2 G X 3 7 3fa—-17
4<a< 8 ...
1] 3<a—1<5 4<a< 6 1 v
M=f(1)=7"=2a—-1) 7T+2a*—8a+4
= 2a%— 22a+ 67
2] 5<a—1<7 6<a<8
M=7(3)=32—2a—1) 3+2a>—8a+4
= 2a%— lda+ 19 0 >
327 6
a’—6a+3=6 ...
a=3+2/3 2] y
a= 3+ ZJ_g
a=3+23 a’=6a+3
6<3+2,3 <8 2]
M=2a>—14a+19
—26a+3)—14a+19=—2a+25 5 : v
= —23+2/3)+25= 19— 4/ 3 a—1




